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°" 25/04/07 | 8 BOARDS WIDE PLATFORM
Scale 1:75 type 1
10kN/m2 LOADING BAY,MAX 5 LIFTS

THIS PLATFORM IS DESIGNED IN
ACCORDANCE WITHTG20:2005
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design for a 10kn/m2 loading platform inc 20 % impact load
total platform load =10kn/m2+0.25kn/m2 boards=10.25kn/m2
check the transoms for a span of 1.85m and the min c/c of 0.45m as stated in tg20
bm in transom =10.25 x 0.45 x 1.85 x 1.85 =1.97knm
8
permissible =0.99knmtherefore use double transoms @450c/c(bm =0.99 x 2=1.98knm

check the beams

for a udl off the loading platform 10.25 x 0.925m=9.48kn/m
load from scaffold platform say0.6m x 2.25kn/m2=1.35kn/m
udl =10.83kn/m

max load on central leg =10.83 x 2 x 1.25(cont)=27.075kn

no of fittings required at the support=27.075/6.1=5

therefore 2 On the beam chords,check with a transom and 2 check fittings
swi=30.5

max bm =5.41knm
permissible =13.5knm
max shear=13.5kn
permissible =18kn




